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QUESTION 1

A server has four 300 GB SAS hard drives and a RAID card. The server will initially need 300 GB of storage space, and
is estimated to grow to 400 GB. Which of the following RAID configurations should be deployed? 

A. RAID 1 with a hot spare 

B. RAID 5 with a hot spare 

C. RAID 10 with a hot spare 

D. RAID 50 with a hot spare 

Correct Answer: B 

 

QUESTION 2

Which of the following uses a switching fabric to connect storage LUNs to hosts? 

A. Fiber Channel 

B. SCSI 

C. SATA 

D. Ethernet 

Correct Answer: A 

 

QUESTION 3

A user reports that they are unable to reach a particular website. The user had no issues reaching the site earlier in the
day. Which of the following is the MOST likely cause of the lack of access? 

A. The VLAN is misconfigured 

B. The user has an improperly configured NIC 

C. The DHCP server is down 

D. The DNS server is down 

Correct Answer: D 

 

QUESTION 4

Which of the following is the MAIN advantage of using a differential backup over an incremental backup? 

A. Does not require drive space 
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B. Backup time is faster 

C. Does not depend on a full backup 

D. Restore time is faster 

Correct Answer: D 

 

QUESTION 5

When installing processors with mixed stepping levels in a server, which of the following guidelines must be followed?
(Select TWO). 

A. The processors must have different frequencies set to operate. 

B. The processor with the highest feature set must be the bootstrap processor. 

C. The processors must have different cache sizes set to operate. 

D. The processors must have the same cache size set. 

E. The processor with the lowest feature set must be the bootstrap processor. 

Correct Answer: DE 
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